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1. A train is 125 m long. If the train takes 30 seconds to cross a tree by
the railway line, then the speed of the traln IS: <
T 125 Ul TS B U JeTe! Iad 13T & IR T O )

QR B H 30 . BT A é?ﬁ%liﬂm@"r P AT JTd PISTE?

(a) 14 km/hr.
(b) 15 km/hr.
(c) 16 km/hr.
(d) 12 km/hr.
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2.A 75 metre long train is moving at 20 kmph. It will cross a man standing *
on the platform in

U 75 HY. Tl YTl it 20 fol. (et 1 91 @ 9 W61 5, U
@WW@%WE%W H3 | g 999 o |

a) 12 sec.
b) 14 sec.
(c) 13.5 sec.
(d) 15.5 sec.
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3. Atrain 300 metre long is running at a speed of 25 metre
per second. It  will cross a bridge of 200 metre long In

e 300 HY. T RS 25 HELA. D1 3Te | Feld g 200

M WewH S IR H1 T fdar gog ait

(a) 5 seconds
(b) 10 seconds
(c) 20 seconds
(d) 25 seconds
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4. Atrain takes 18 seconds to pass through a platform 162 m .

long and 15 seconds to pass another platform 120 m long.
The

length of the tralr]l% .
@ 162 aiélﬁfqﬂﬁ@waﬂﬁﬁw
HhUs dyl 120 Al T WChH I UR A H 15 YhUS

BT IHY ol g | YS! Bl TaTs (HL) JTd Hiteig?

(a) 70
(b) 80
(c) 90
(d) 105
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5. A'moving train crosses a man standing on a platform and
the platform 300 metres long in 10 seconds and 25 seconds
be the time taken by the train to

Cross a platform 200 metre long?

respectively. What will

T ¥ 300 HY. dd qYT I W TS Al Bl
HAT- 25 YhUS JUT 10 YhUS H UR c‘{é?ﬁ%l REUNEE
YATE T 200 HY, T I3 WeHTH BT UR B3 7 fba
o o (a) 163 sec.

(c) 20 sec.
(b) 18 sec.

(d) 22 sec.
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6. Atrain, with a uniform speed, crosses a platform, 162

meter long, in 18

seconds and another platform, 120 meter

Iong In 15 seconds. The time to cross 600mt long platform

WWTI??[ T T 1d ¥ Teid gYUD 162 HT. Fﬂé

U W Bl 18 H. TUT 120 HY. T Lvldlbl-lcb

JhUS H UR Al 21 600 H s

memlu SARIP: cow =R5

SATTS! gIRT fordn T 9HY J1d ©

% (a) 14 km/hr
(b) 42 km/hr
(c) 50.4 km/hr
(d) not
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7. Atrain moving at a rate of 36 km/hr crosses a standing
man in 10  seconds. It will cross a platform 55 metres long
In :

36 farTil/Eic 1 AT | I Te! Ueh RAS!, U WG §U
SfeRd bl 10 YHUS H YR Pl 8 | STy 55 Hex da
RICHTH &l fbdH THT H UR R UTEI1?

(a) 6 seconds
(b) 7 seconds
(c) 15.5 seconds
(d) 5 seconds
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8. Atrain 180 m long moving at the speed of 20 m/sec over
takes a man moving at a speed of 10 m/sec in the same direction.
The train asses the man :

T 180 YTt 20 T P! I1e | Fed g3
ﬁiﬂﬁmrﬁ@“’rﬁﬁﬁs Id ¥g HGH! Bl UR B H
Jug @ Y |

(a) 6 sec
(b)9 sec
(C) 18 sec
(d) 27 sec
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9. Two trains are running In appositive direction with the same ‘
speed. If the length of each train Is 120 meters and the cross

each other in 12 seconds. The speed of each train (in km/
hour) IS
aﬁaﬂﬁ%m Uh GHH 91 J I 5l g | ﬁmﬁﬁﬁ?ﬂ&ﬁﬁ
gaaw g{-QObItIT?WﬁIZ@ RERRIEERE:
D! AT (km/h)IdR STdfd Eﬁf%ﬂ?ﬂ%ﬂﬁ SLSIE
(a) 72
(b) 10
(c) 36
(d) 18
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10. A man iIs walking at a speed of 10 kmph. After every
km, he takes rest for 5 minutes. How much time will he take

to cover a distance of 5 km?

Ueh 3MeH 10 fbHL. fdl et ] TR g IId] g U YD
gﬁg Ge dlqsiﬁ:l‘dﬁ%mobml%la‘s’s%tﬂ B gt fopaHt
g H

(a) 60 minutes
(b) 50 minutes
(€) 55 minutes
(d) 70 minutes
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11. A passenger train 150 m long Is travelling with a speed
of 36km/hr. Ifa  man is cycling In the direction of train at 9
km/hr., the time taken by the train to pass the man is

T 150 1. ot RS 36 fobHl/Ere] bt =1et | ENERE
Wﬁ%ﬂﬁ9 Hi/diel ! aTd § I1sfd el I8 Afad
&I R B4 T %Rﬂﬂqwm‘r I1d DIfE?

(a) 10 sec
(b) 15 sec
(c) 18 sec
(d) 20 sec
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12. A man standing on a platform finds that a train takes 3
seconds to pass him and another train of the same length
moving In the opposite direction, takes 4 seconds. The time
taken by the trams to pass each other will be

mq ChH TR Tg Teb Jfe - 3rHd foba fob T
H Yo I UR B H 3 YeHUS o1 Y Wil & | STafch

ﬁuﬁﬁﬁiﬂ@ &rq‘rﬁshv&nﬁat?ﬂww CEIEC AR NES

T UR & T H 4 AHUS BT AT ol gl Sl SISl gRI U
chol R 34 H T AT J1d Piforge  (8) 2 seconds
(b) 3 seconc

(c) 4 seconds
(d) 5 secono

()

()




13.

wo trains 150 m and 120 m long respectively moving from i
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opposite directions cross each other in 10 secs. If the speed of
the second train is 43.2 km/hr, then the speed of the first train

EPQT'MT%?T

Sl Sh g - 150 HieR qa 120 e dal @

GRRIGATRI

3T TUTH-GN &I 10 JHUS T UR e

g | Ifc qusI XaTTTal &1 a1d 43.2 T ufd geT g ol ugd &l

T JATd DR | (a) 54 km/hr

(b)50 km/hr
(c) 52 km/hr
(d)51 km/hr
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14, Two trains each having a length of 160 meters moving -
In opposite direction crossed each other in 9 seconds. If one
train crossed a 200-metre-long

latform In 27 seconds, then the ratio of their speeds IS:

mﬂﬁ&ﬂ?ﬁﬁwmﬁ@ JI® Pl dHTS
%%(;Iﬁ g, d Th-ga P19 obs H UR B Wil ¢ | Ife Ueb

C

1), 200 Hiex T QehH &l 27 IFS T IR BT,
3! Td BT JUTd FT BIT:

(a) 3:4
(b)3:5
(c) 5:8
(d) 2:3
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15.Two trains start at the same time for two station A and B toward B
and A respectively. If the distance between A and B is 220 km and

their speeds are 50km/hr and 60 km/hr respectively then after how
much time will they meet each other

I XIS W ATYT B U Uh-gIR BT 3R T GRH Hcl] ©
gfe; STp! AT SHHRT: 50 L. g GeT T 60 fobTit. T HeT & 3R A
dUTB & &g &I g3l 220 Tt B df fobdmil o= d1q Teh-gae & e

Ql)

al)

(a)2 hr
(B)2 5 hr
(c)3 hr
(d) 1 hr
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16.The distance between two cities A and B Is 330 km. A train starts from Aat
8 a.m. and travels towards B at 60 km/hr. Another train starts
from B at 9 a.m. and travels towards A at 75 km/hr. At what time do they

meet?

&l RIFET ATYTB & o1 B g3l 330 km &1 TP Sa TSl R AT UId: 8 Fol
60 T HY/E. DT T T B B 3R dUT Tb =T YS! UTd: 9 ol RITH B I I A
B 3R 75 fHHl/be ot 7 A Il & | I7Pb THE BT THY JTd DHITT?

(a) 10:00 am
(b)10:30 am
(c) 11:00 am
(d)11:30 am
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17.Train A and B start at the same time. Train A travels at 55 km/hr from

station X to station Y and train B travels at 80 km/hr from station Y to

station X. They cross each other after 1 hour and 36 minutes. What is the
distance (in km) between station X and Y?

CTARBUH sl THIHIF 8l 6| TTALIA X YWXIH Y dF 55
ﬁ?ﬁ’r/*aaﬁiﬁ%rﬁwm—cﬁ 3R o B RYH X T 1 I 80 fob .

mﬁﬁﬁﬁ?ﬂéléw‘aﬁsﬁ?%ﬁﬂ‘dmdmwgﬂaqﬂtrr\fm‘cﬁ
g1 WA X AR Y & o g (fop. AT 7y | 82

(a) 196
(b)232
(c) 240
(d) 216




